
Questions from Delegates



Question 1

PM10 new  FDMS unit at Queensferry Road lots of  
negative data for example:

• Total PM10 = -102.1

• Non Volatile                    = -67• Non Volatile                    = -67

• Volatile                             =  35.0



Response 1

• These data false and are as a result of a fault with the 
analyser. It looks like there could be a leak in the 
system or the pump might be faulty.



Question 2

• Essentials of LAQM - Review and Assessment Training

• Will this training be available in Scotland?



Question 3

• What PM10 monitoring equipment is the most suitable (or 
accurate)?



Response 3

• Reference equivalent methods are recommended for use by 
Local Authorities. 

• Equivalence trials:
http://uk-air.defra.gov.uk/reports/cat05/0606130952_UKPMEquivalence.pdf

• LAQM Helpdesk

The contact details have changed and are now as follows:

Tel: 0800 0327 953

Email: LAQMHelpdesk@uk.bureauveritas.com 



Question 4

• Have the European regulations on vehicle emissions 
improved air quality or made no difference or made 
things worse?



Question 5

• Is the provisional TEOM data on the website shown with 
the 1.3 factor applied and is it only ratified data that has 
been VCM corrected?

• Yes• Yes



Question 6

• Are there any changes proposed to the roles and 
responsibilities of local authorities under the Environment 
Act 1995 in relation to air quality?



Response 6

• ‘The Scottish Government and the other UK 
administrations commissioned a review of the LAQM 
system in 2010. This resulted in a comprehensive report 
with a large number of recommendations, which are still 
under consideration by central government. The Scottish under consideration by central government. The Scottish 
Government will announce its response to the review in 
due course’.



Question 7

• Given that the measured 2010 PM10 gravimetric equivalent 
in rural West of Scotland was 14 µgm-3 is it not unrealistic 
to afford so little headroom to urban authorities to expect to afford so little headroom to urban authorities to expect 
them to achieve 18 µgm-3 , particularly when the annual 
limit in England and Wales is 40 µgm-3 i.e. over 120% 
higher? 



Response 7

• ‘The Scottish Government currently has no plans to review the PM10 

annual objective. Work undertaken to inform the setting of the 
objective in 2003 suggested that 18 µg m-3 in Scotland would be an 
equivalent challenge to 20 µg m-3 which was set as an objective in 
England and Wales at the same time. This was due to Scotland’s 
lower background levels and the fact that we receive less trans-
boundary pollution from continental Europe. The objective in England boundary pollution from continental Europe. The objective in England 
and Wales was provisional and has since been dropped in both 
countries. This was a policy decision made by Defra and the Welsh 
Assembly Government, which it would be inappropriate for the 
Scottish Government to comment on. However we feel that to do the 
same in Scotland would be a backwards step and send out the wrong 
message. The Scottish Government recognises that 18 mg m-3 is 
challenging, but that is its purpose. The 40 µg m-3 objective is being 
achieved everywhere in the UK apart from a handful of locations in 
London and could therefore not be thought of as particularly 
challenging.’ 



Question 8

• When the Scottish PM data is reported to the EU, is the 
number of exceeded based on the UK/English limit values, 
or the Scottish limit values/ allowed exceeded. Again with 
the annual mean number is UK or Scottish values used to 
state if the PM level is above the allowed amount.state if the PM level is above the allowed amount.



Response 8
• When the UK Government reports to the Commission, it is in relation to the 

EU limit values:


